do/dp" [pb/rad]

13000 GeV pp tt
L B B B I

T

Ratio to ATLAS

7 I O L Y I AL L B B o %)

| — =

— p” (ATLAS for leptoquark search) —%

107t = ! =3

= 33

— d<

L 1A

s s

- !

107 EgA =L

o = o

B &
1073 &= ‘\. =
S =

| So —'(3'

- i ey

>

107 = =9

— M

- mEs

- — >

B %

105 - W ATLAS &

— . ] -

— --3-- Herwig 7.2.1 default ==

— —&— Pythia 8.176 default 1o

B ! o

2

107° &= —=

— - O

= E A B — T

2 =2

1 _v _1
R |

0.5 —0.5

L A T BT T B e

0 500 1000 1500 2000

pl [GeV]



	Contents
	Page 1


